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Note : Answer questions from each Section as per

instructions given.

Section—I

Note : Answer any two questions from this Section.

1.

20 each

(a) Consider an individual living for two periods

1 and 2 consuming X; and Xz in those
respective periods. His utility function is
given by U=U(X4,X,). This individual
earns Y1 and Y2 in periods 1 and 2

respectively. Also he has the choice of

P.T.O.

(b)

(a)

(b)
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borrowing and lending at the prevailing

interest rate r.

(1) Compute and illustrate the
intertemporal budget constraint for

this individual. 5

(1) Write the Lagrangian function for this
problem along with the first order

conditions. 5

Discuss the concept of dynamic stability

with the help of a Cobweb model. 10

What i1s meant by a Principal-Agent

problem ? 5

Consider an individual with the following
von Neumann-Morgenstern utility function
U(X) =vX , where X stands for amount of
money. Comment upon attitude towards

risk of such an individual with the help of

a diagram. 5
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(c) Now, suppose this individual plays a game
of tossing a coin where he wins ¥ 2 if head
turns up and nothing if tail turns up. On

the basis of the given information, find :
(1) The expected value of the game. 4

(11) The risk premium this person will be
willing to pay to avoid the risk

associated with the game. 6

3. Consider a consumer’s preferences over goods x

and y given by the utility function :

U(x, y) = x*y*
Let the budget constraint be pyX+pyy= M,
where p, is the price of good X, p, the price of

good y and let consumer’s income be given
by M.

(a) Derive the indirect utility function. 5

(b) Express the utility maximisation problem
as the expenditure minimisation problem
and compute the compensated demand

functions. 10

(¢) Also determine the expenditure function. 5

P.T.O.

4.
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Differentiate between the following : 5 each
(1) Partial equilibrium and General

equilibrium framework
(1) Cardinal and Ordinal theory of utility

(111) Signalling and Screening as solutions to

problem of asymmetric information

(iv) Cooperative and Non-cooperative game

theory models

Section—II

Note : Answer any five questions from this

5.

Section. 5x12=60

(a) Discuss a general form of a Cobb-Douglas

production function. 4

(b) Consider a production function Q= f(L),

where Q represents the output and L is the
factor of production. Let w be the per unit
price of factor L. and p be the per unit price
of output Q. Using the Envelope theorem,
determine the supply function and the

factor demand function. 8



6.

(a)

(b)
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What is the Bayesian-Nash equilibrium,
and how 1s it different from perfect
Bayesian equilibrium ? 6
What are the requirements of a perfect

Bayesian equilibrium ? 6

Using appropriate diagrams, compare and

contrast the inefficiencies associated with the

negative and the positive externalities. 12

(a)

(b)

Differentiate between the Cournot and the

Bertrand model of Oligopoly. 6

Consider an industry with two firms 1 and
2, each producing output Qi and Qg
respectively and facing the industry
demand given by P = 140 — Q, where P is
the market price and Q represents the
total industry output, that is Q = Q1 + Qa.
Assume that each faces a marginal cost of
% 20 per unit with no fixed costs. Solve for
the Cournot equilibrium in such an

industry. 6

P.T.O.
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9. Consider the following game :

Player 1

(a)

(b)
(c)

10. (a)

(b)

Player 1 R
4 \I S

Player1 S
(1,7)

Determine the sub-game(s) of the above

game. 4
Find all the Nash equilibria of this game. 4

Find the sub-game perfect equilibrium of
the above game. Can we make use of the
backward induction method to find the

sub-game perfect equilibrium ? 4

What is meant by a social welfare function ?

6

Using a Bergson-Samuelson social welfare
function and a grand utility possibility
frontier (GUPF), discuss the concept of a

social optimum. 6



[7]
11. Write short notes on the following :
(a) Moral hazard
(b) Excess capacity associated

(c)
(d)

monopolistic competition
Contract curve

Second degree price discrimination
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with

P.T.O.
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sEfel " X, dAM X, &S Al 2. (H) 9@ () Td whdl §HE1 § F1 I
W en(l %I S| sqq||'3|c1| thedd 89 % ? 5
THR T (@)ad - IUEfE Hed o

U=U(Xy,X,) AR HE el YR R fa=ar wifse

7 g <N sl ¥ wET: Y, aen fSrerenT ST ®e 39 YR ®

Y, @ fSd il B @ UM g U(X) =vX
SEl X HEl ® AEN H ad@l Bl YErEs

H Tl § TH UMl & SifEd

S W W IYRX oH de1 YR A &

99 ff Iy =)

gfteepror W feugoft swifsu) 5

(i) 39 U9 & fau Tmeifas asie
(M) 3@, 99 o & g8 3udiaga fage 3=

3Ty 1 | 3R witaT| 5
N W Geldl & S8l 98 faae fa (head)
(i) 9 9% & fau 9o &ife &1 I & SN W T 2 S ¥ R 9 (ail) SR W
e T wer 1 fereu 10 39 %9 ol @ Ao 39 e & SR
(@) Fiaad Higd ol HeEdl 9 TAHE e T A HIWT
FT STAURIN 1 == HifoC| 10 () W H ARG T 4

P.T.O.
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Giy sifem =1 o8 wifgm o 59 9%
Sifgq ¥ 994 & fau swae &6 &

fere = = 6

3. FAfafad Ui wem W SU9eT & x a9l
y o & I AHE | foEr wifse

U(x, y) = x>yt
R W fF oSS Y px+pyy=M @I p,
oW x ! KIET A p, TH y HI HEQ T,
SYHIRT HT A M €

(%) 3T9& IYANTA Hed &l A1d hifo@l 5

(@)FI IAAHH0] GHE & ®9 § IUAAT

SAUFAHHT IS hI HF HIfoT qdl

Ifdes A Hell &1 3Tehed ®iful 10

(1) =IF %ed 1 FUR sifs 5

4. Trefafed & 9= =R saET TS 5

P.T.O.
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G) 3T T<ed Ue 9 9ed hHds

(i) SYHRTE 1 THEEES TS wHaEd GaT

(iii) STIAMHT (asymmetric) T &I THET &
YA % ®9 H Hehad T BHEEH
(screening)

(iv) Bd fagra & Team ud q9ean Hisa

Que—II

e : Fefafea 4 9 f&=El ofar 9ol & SW

IS 5x12=60

(F)FF-STAH IART Foad & HHEHT &Y hi

== ifru| 4

(@) Q= f(L) SR %o W faum Hifsm, swef
Q JdlEd dAar L meﬁﬁé\lm

o foF 3T 9oF L ot 9fd SR Heled
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w B aar 9fd THE 9% # Si9d p e qol 59 IUN I WM P=140-Q T, SEl P
T (envelop) fOGTA &1 T F 9fd IR HEd A9 Q HA IAEA 3N
Feld  del WM HT Ged w1 faeir Q=Q,+Q, B "H & f& ww wH I
s . Hdi @ra € 20 Ufd ST € qem Wi

feoR o =9 71 o fRufa § =W @

6. ()afsa-Ate fagma =01 ¢ ? 98 fagra ol
fau =1 g 1 fAuRo sifsu) 6

[

Ao e ¥ fhg R fa= © 2 6

(@) gvl SfEH Taed FT 1 IA © 2 6

7. UHRHE TG ThRcHe dEmed o grafed

eyl & W qo U9 fouy Sadl et

ST ¥ IUgad {@ifesl &1 Y9 hifa| 12

(1,7)

8. (F)ITTUMYHR & Hl dUl deve Hisd & o

(F) I8 @ & Iq@e Fuifa sifsm) 4
AR FadrEd| 6

(@) 3@ ®©d & If AW FHaed &

(W) ®H 1 d 2 9 Tk I W fo=Em
CLIELS 4

HIFTT S HHA: Q, T Q, SR i ©

P.T.O.
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10. ()

(@)
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S WA & IUES YU Hded i A6
HIfST F 'Y IYEA YU Haed A
FH & fau uwd oy fafy &1 9=

F HHA B ? 4
gEfSeh ediol e Rl =T 3™
2 ? 6
- TeTead wed qdl 988 SYAnTE

GrEEET HHEA Rl AT Y G
HThAddH (social optimum) hi SAAYROT

1 ==t Hifsu] 6

11. fF=fafes w sfyw femfoer fafae @ 3x4=12

()

(@)

EITERCRE
ThifHeERe  gfqaifar ¥ wer sifdis

&THdT

P.T.O.

(M)

(¥1)
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